430cm3 = .. m3 19200mm3 = ..., dm?3
9870mm3 = ... dm3 _ 87.5cm3 = ... mm3

31,5m3 = . cm3 11,5m3 = . cm3

0,91cm3 = ... dm3 0,82dm3 = ... mm?3
L2dm3 = nm3 |y 46000cm3 = ... n3
5,68m3 = ... cm3 | 25600l = ... m?3

43,7cm3 = mm3J 0,82mm3 = ... cm3
0,68l = ..o, cm3 (| 0,0002m3 = ... cm3
5600mm3 = ... | > T4L00cm3 = mm?3
0,065m3 = ... mm3 | 3,150 = ., mm?3
0,7mm3 = ... cm3 0,006m3 = ..., |

1,98cm3 = ... L — 948,2dm3 = ... cm3
0,0075m3 = ... cm3 2,5cm3 = m3
26l = o, mm3 9550cm3 = '"'Agx'gu';;r"1;g";s'to2 J
430cm3 = . m3 19200mm3 = ..., dm?3
9870mm3 = ... dm3 _ 87.5cm3® = ... mm?3

31,5m3 = ... cm3 11,5m3 = . cm3

0,91cm3 = ... dm3 0,82dm3 = ... mm3
L2dm3 = nm3 |y 46000cm3 = ... n3
5,68m3 = ... cm3 |f 25600l = ... m?3

43,7cm3 = mm3J 0,82mm3 = ... cm3
0,68l = ..o, cm3 [ 0,0002m3 = ... cm3
5600mm3 = ... | > 74L00cm3 = . mm?3
0,065m3 = ... mm3 | 65,1 = ., mm?3
0,7mm3 = ... cm3 0,006cm3 = ..o, mm?3
1,98cm3 = ... L — 948,2dm3 = ... cm3
0,0075m3 = ... cm3  2,5cm3 = m3
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